MATH 1300: Calculus I, Spring 2008
Review for Midterm Exam 2

Midterm Exam 2 covers material from sections 3.1, 3.2, 3.3, 3.4, 3.5, 3.6, 3.7, 4.1, 4.2, 4.3,
and 4.4 of our textbook and material from Worksheets 4, 5, 6, and 7. Material covered on the
previous exam is also fair game. In fact, one of the questions on Exam 2 is nearly identical
to a question on Exam 1 (so, study Exam 1!). This review will give you a good indication of
what you will be expected to know for the exam. However, you should not expect the exam
to be identical to this review.

To study for the exam, you should do the following (in this order):

1.

2

Study class notes and read the textbook
Review homework problems, worksheets, and homework associated with the worksheets

Attempt as many problems on this review that you feel are necessary to increase your
understanding of the material

If you feel you need additional practice, attempt problems in the chapter reviews (that
are similar to assigned homework problems) located at the end of chapters 3 and 4
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If a function is not continuous at z = ¢, then it is not differentiable at z = c.
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If f and ¢ are differentiable on an open interval contgining C, except possibly at « = ¢,
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and lim is an indeterminate form of type oo/oo, then lim f(z) = it ff(:c).
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A representative from a certain publishing company is dropped from the top of a 220
foot tall building. The height h(t) in feet of the representative at ¢ seconds is given hy
the position function h(t) = —16¢* — 26t + 220.
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